

Jackson 3.3
Scratch

$$\Phi(\theta = \frac{\pi}{2}, R, \phi) = V.$$

3
3x2
6x
6.

$$= \Phi = \sum_{l=0}^{\infty} B_l r^{-l} P_l[\cos \theta]$$

W
W

$$= \sum_{l=0}^{\infty} B_l r^{-(l+1)} P_l[\cos \theta] = V.$$

W
W

$$\sum_{l=0}^{\infty} B_l r^{-(l+1)} P_l[\cos \theta] = V.$$

W

$$\sum_{l=0}^{\infty} B_l R^{-(l+1)} P_l[0] = V.$$

$$\int \Phi P_l[\cos \theta'] \sin \theta' d\theta = \frac{2}{2l+1} B_l R^{-(l+1)}$$

$$B_l = \frac{2l+1}{2} R^{l+1} \int \Phi P_l[\cos \theta'] \sin \theta' d\theta$$

$$B_l = \frac{2l+1}{2} R^{l+1} \frac{V}{\pi} P_l[0]$$

$$P_l = \frac{1}{2^l l!} \frac{d^l}{dx^l} (x^2-1)^l$$

1	1				
1	2	1			
1	3	3	1		
1	4	6	4	1	
1	5	10	10	5	1

$$P_l[0] = \begin{cases} \frac{1}{2^l l!} l! \binom{l}{l/2} (-1)^{l/2} & l \text{ even} \\ 0 & l \text{ odd} \end{cases}$$

we need the x^l term

$$= \frac{1}{2^l l!} \binom{l}{l/2} (-1)^{l/2} \Rightarrow l \text{ be even, } n = l/2$$

$$P_{2n}[0] = \frac{1}{2^l} \binom{2l}{l} (-1)^{l/2} = \frac{1}{2^l} \frac{(2l)!}{l! l!} (-1)^{l/2}$$

Jackson 3.3
Scratch

$$P_{2l}^{(a)}[0] = \frac{1}{4^l} \frac{(2l)!}{l! l!} (-1)^l$$

$$= \frac{1}{4^l} \frac{(2l+1)(2l+2)\dots(2l)}{l!} (-1)^l$$

$$\frac{d}{dx} (x^2-1)^l = \sum_{n=0}^l \binom{l}{n} (x^2)^{n-(l-n)} (-1)^{l-n}$$

$$P_{2l}^{(a)}[0] = \frac{1}{4^l} \frac{(2l)!}{l! l!} (-1)^l$$

differentiation gives the constant term

$$E' = E + (n-1)E''$$

$$= (n-1)E'' + E'$$

$$E^2 \circ (E^2) = E^2 \circ (E^2) + E^2 \circ (E^2)$$

$$E^2 \circ (E^2) = \frac{(n-1)(n-2)}{2} E^2$$

$$\frac{(n-1)(n-2)}{2} E^2 = \frac{(n-1)(n-2)}{2} E^2$$

$$\frac{(n-1)(n-2)}{2} E^2 = \frac{(n-1)(n-2)}{2} E^2$$

$$E^2 \circ (E^2) + E^2 \circ (E^2) = \frac{(n-1)(n-2)}{2} E^2 + \frac{(n-1)(n-2)}{2} E^2$$